
A. 3   

 + 2   

 
 
 
 

B. 5   

 – 2   

 
 
 
 

C. 4 x 3 =   

 
 
 

D. 8 ÷ 2 =   

 
  



 

E. 3 + 4 x 5 =   

 
 
 

F. I had 3 apples and Ms. 
Gilbertson gave me 4 
packages of 5 more apples. 
How many apples did I have? 
 
G. I put 3 apples in a box and 
added 4 more apples. I did 
this 5 times. How many 
apples did I have? 
 
  



H. 10 + 15 ÷ 5 =   

 
 
 

I. I had 10 apples. I got 15 
more. I put all the apples 
into bags with 5 apples per 
bag. How many bags of 
apples did I have then? 
 
J. I had 10 bags of apples on 
Saturday morning. Later that 
day, I put 15 apples into bags 
with 5 apples per bag. How 
many bags of apples did I 
have then? 
  



K. 20 ÷ 5 x 2 =   

 
 
 

L. I put 20 apples into bags 
with 5 apples per bag. I did 
this twice. How many bags 
did I have? 
 
M. I put 20 apples into 5 
cartons of 2 bags with the 
same number of apples in 
each bag. How many apples 
in each bag? 
 
  



Parentheses   (  [  {    }  ]  ) 
 
Exponentiation  52, 33, 25 

 
Multiplication and Division 
––––left to right–––––––> 
 
Addition and Subtraction 
––––left to right–––––––> 
 
 

  



N. 130 – 4 x 20 ÷ 5 + 2 
  



O. 52 + (3x4) ÷ 12 - 21 + 5 
  



P. (13+4 – 2 x 5 +2)/3 


